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NO.4+13.2 0.0 1.85 - -
NO.5 6.8 1.88 1.865 12.7
NO.6 20.0 1.86 1.870 37.4
NO.7 20.0 1.90 1.880 37.6
NO.8 20.0 1.89 1.895 37.9
NO.9 20.0 1.88 1.885 37.7
NO.9+10.0 10.0 1.87 1.875 18.8
NO.10 10.0 1.90 1.885 18.9
NO.11 20.0 1.88 1.890 37.8
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NO.12+6.0 6.0 1.87 1.870 11.2 NO. 12 [7] W
m m
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NO.4+13.1 0.0 0.6 - -
NO.5 6.9 0.1 0.35 2.4
NO.6 20.0 0.2 0.15 3.0
NO.7 20.0 0.1 0.15 3.0
NO.8 20.0 0.0 0.05 1.0
NO.9 20.0 0.1 0.05 1.0
NO.9+10.0 10.0 0.0 0.05 0.5
NO.10 10.0 0.1 0.05 0.5
NO.11 20.0 0.1 0.10 2.0
NO.12 20.0 0.1 0.10 2.0

NO.12+6.0 6.0 0.1 0.10 0.6 NO. 12 [F] ¥ i
m m3
At 152.9 16.0
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il HEREE | (& IERERE R K - (e A) 16 1 FRE .
(m) (m) EfE(m2) | PR m2) A& Ffm3) (m) fifg(m2) [FHmEREm2)| & FEm3)

NO.7 0.0 0.0 - -
NO.8 20.0 0.3 0.15 3.0
NO.9 20.0 0.1 0.20 4.0
NO.9+10.0 10.0 0.2 0.15 1.5
NO.10 10.0 0.2 0.20 2.0
NO.11 20.0 0.1 0.15 3.0
NO.12 20.0 0.2 0.15 3.0

NO.12+6.0 6.0 0.2 0.20 1.2 NO. 122 [FIfr i
o 3
&t 106.0 17.7
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23 775%70.09m®

& E 4B AT 6 X 250 X 250 e 768
7L —h 6X ¢ 80 # 768
VAN M16 X 40(4.6) ZN 3072
T f— M16 'S 3072
STEIDAR LR M16 X 300(4.6) ZN 768
Jwhk M16 ] 768
LI 8irs L 75X 75X 6-100 N 768
1 )& i [ E M7 e 1 404
ALV m’ 0.51
TE A T TE 8 [ 100X50X5X7.5-540| A 196
LI 8irs L 40X 40 X 5-50 %N 196
BEE T L m’ 14.94
ERZAL A m 334.3
KIE7 VT Az m 115.2
a2 7)—h T FEH = 7Y —h o ck=18N/mm” m’ 37.91
T m* 31.2
M AEE L2V m’ 0.94
a7t B m* 31.2
H T t=10mm m” 2.99
FEARLEE T :“/”f;%%%% m® 0.92
Ak R UBLE T VP& ¢ 200 m 2.0
VP& ¢ 250 m 0.3
JE R T &= 27—k | t=20cm o ck=18N/mm* | m® 57.4
BLar7)—k t=10cm ¢ ck=18N/mm’ | m’ 28.7
H T t=10mm m” 5.76




EFE BR/I\RILBETESE
1. &= /3% JL(1600 X 700 X 70-$ZH#E)

2. &=/ 31)L(1600 X 700 x 70-H0IL)

\

3. B& /3% JL(1600 x 700 x 7052 R)

\

4. &2/ JL(1600 X 700 x 70- 58 R+A0 L)

\

5. B2/ \RIBHIGITL—2IL—216tH)

6. BEEN\RIBERMIGSITL—2IL—8tR+90—5—8 45— 13w %4975:790.09m3)

7. BIEE2E L —k6 %250 X% 250)

B T BEROImELE) SFBROImXEH)
153 X 4 + 5 X 2 + 29 X 4 + 12 X 2
BER+INT
+ 3 x 2

8. EEEER JL—K6X ¢80)

=B T BEROImELE) FBROImXEH)
153 X 4 + 5 X 2 + 29 X 4 + 12 X 2
BER+INT

+ 3 x 2

9. EIEE€E RILMM16 X 40(4.6))
768 x 4

10. EE£E 7y rv—(MI16)
768 x 4

11. EE£E ~THYYRILEM16 X 300(4.6))

=B T BEROImELE) BROImXEH)
153 X 4 + 5 X 2 + 29 X 4 + 12 X 2
BER+INT

+ 3 x 2

12. BEEE F+vkM16)

=B T BEROImELE) SBROImXEH)
153 X 4 + 5 X 2 + 29 X 4 + 12 X 2
BER+INT

+ 3 x 2

13. EE£E LREH#(L 75% 75 % 6-100)

=B T BEROImELE) BROImXERH)
153 X 4 + 5 X 2 + 29 X 4 + 12 X 2
BER+INT

+ 3 x 2

153 1%
5 &
41 #
3

92 &

110

768 &

768 &

3072 &

3072 ¥

768 &

768 {&

768 A&



14. (tE&R BERIYE
ZHE T BmR BER+IT
153 X 2 + 5 X 2 + 41 X 2 + 3 x 2

15. tEMm |IRHEEEILZIL
0055 2 x gw X 007 X 768

16. TE=ITE€E ERH( 100 x50 % 5 X 7.5-540)
ZHE BROImME) EROImEE)
79 X 2 + 16 X 2 + 6 % 1

17. TE=IT€E LML 40 x40 X 5-50)
ZAE BROImEULE) BEROImERH)
79 X 2 + 16 X 2 + 6 X 1

18. 7LV
0125 x 0125 x 768 + 015 X 010 X 196

19. THAAE
0075 X 4 x 768
+ 010 + 009 + 005 X 2+ 004 x 2
+ 0040 X 2 + 004 X 2 )x 196

20. KIEIL 788
0075 x 2 x 768

21. FEA ') —M 0 ck=18N/mm?)
BENRILHZEE RO
2132 x 015 + 312 x 0.19
22. B

23. FEINEEILZIL
312 x 003

24. AT EF

25. H#t T(t=10mm)
011 x 160 x 17

404 {&

051 m°

196 &

196 &

14.94 m?

3343 m

1152 m

37.91 m®

31.2 m?
0.94 m®

31.2 m?

2.99 m?



26. BIRLET (ALY —MEEY %)

ZHE/NRILTIE

160 x 070 X 49
mI® MI®

-( 1023 x 1 + 0984 x 1
MI®

+ 1039 x 1)
%8 R0.90m 5 R1.00m

-( 090 x 4 + 100 x 8
HR1.20m 5 R1.35m

+ 120 X 3 + 135 x 4
HR1.50m

+ 150 X 4 ) x 070
BR+MIO BR+II®

-( 0890 x 1 + 0757 x 1

= 13.09

13.09 X

0.07

+

MITR
1.033 x

58 R1.10m

110 X 4

5 R1.40m

140 x 3

BR+IMI®

0.730 X

1

1

+

MIT@

1.004 X 1

58 R1.15m

1.15

x 7

55 R1.45m

1.45

x 4

0.92 m®
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VP (¢ 200) /£ INO.5 + 5.3 0.34

/£ [NO.6 + 9.9 0.34

£ |INO.T + 9.9 0.34

£ |NO.9 + 2.9 0.34

£ |NO.10 + 1.8 0.34

/£ |NO.11 + 18.9 0.34

it 2.04 m

VPE (¢ 250) st NO.9 0.34 m
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# T R G 11
A HIREE | & IE IR gD 7 —hk & 1F B .
S (m) (m) M (m) F¥Em) | m FE(m2) (m) M (m) F¥Em) | m FE(m2)

NO.4+13.1 0.0 1.85 - ~
NO.5 6.9 1.88 1.865 12.9
NO.6 20.0 1.88 1.880 37.6
NO.7 20.0 1.89 1.885 37.7
NO.8 20.0 1.88 1.885 37.7
NO.9 20.0 1.88 1.880 37.6
NO.9+10.0 10.0 1.87 1.875 18.8
NO.10 10.0 1.89 1.880 18.8
NO.11 20.0 1.87 1.880 37.6
NO.12 20.0 1.86 1.865 37.3

NO.12+6.0 6.0 1.86 1.860 11.2 NO.12& [6 ¥
m m
3 152.9 287.2
EiEay 7 —k t=20cm 57.4m
WL a7 —k t=10cm 28.7m




# F L K E

A R E k| W=

BT /= INO4 + 176 2.2
=  INO5 + 7.6 1.9
/£ INO5 +  17.6 1.9
=  INO6 + 7.6 1.9
/= INO.6 +  17.6 1.9
=  INO7T + 1.6 1.9
= INO.T + 176 1.9
=  INO8 + 7.6 1.9
/£ INO.8 +  17.6 1.9
=  INO9 + 7.6 1.9
/£ INO.9 + 176 1.9
7= INO.10 + 7.6 1.9
/£ INO.10 +  17.6 1.9
7= INO.1l + 7.6 1.9
/£ INO.11l +  17.6 1.9

z 28.8 m

A= | 288 X 0.2 5.76 m*
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WM (255

1. EEERAE(P34x3t)
( 060 + 0.60

2. RERE®17x2t)
070 x 6

3. LFZER#4(50 x 50 x 4)
( 030 + 150

4. FL—MT5 % 6t)
014 x 2 X

+ 020 ) x 2 X

X 085 kg/m

+ 020 ) x 2 X

3.53 kg/m

243 kg/m

3.06 kg/m

6.80 kg

3.57 kg

12.24 kg

0.99 kg

23.60 kg
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AKEET KPR 61 F L | K 1

K T R)ZFLE | ¢300 RE-fE| m 93.0| 41 TEVi A
RYTFLUAE | ¢600 FRE | m 163.0| 47 B T XA
R)ZF L ¢ 600 FXE fiE| m 1.0
RYTF LA ¢ 300, 600{K & | t 3.32




R THEBEHYE

1. MHEREXRE D50 E)
N= 4 + 12

2. KPRV T 62 F - HE)
N

3. RYIFLUE(P300-HRE-HE ARBEILYERR)
L= 890 + 40

4. RYIFLUE(P600-RE-#HE ARBEIIYVER)
L

5. IRUITFLUE(P600-RE - E)
L

6. RUTFLUE(P300, ¢600{REE)

(¢ 300) 176 kg/A&K — 44 kg/m
L= 97.0 (BEHN) 970 x 44

(¢ 600) 706 kg/A — 17.65 kg/m
L= 1640 (EF%H) 1640 X% 17.65

=11

426.8 + 2894.6

16 &

1

930 m

163.0 m

10 m

426.8 kg

2894.6 kg

3321.4 kg
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